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=mun | NE =x9/% SEA = e Sdst
HS (2) (4 /min) (N /)
# |3z wnsZoima| 70 14.5 0.005
g |3z wnsZoima| 70 4.5 0.005
43 |32 wnsZoimal| 70 4.3 0.007
#4 3= Horas 70 4.3 0.006

CRICHE 3= Horas 70 14.4 0.005
46 | 32 wnSDA 70 14.5 0.004
47 | 32 wnsDA 70 14.5 0.006
48 | 3% wnsDA 70 14.4 0.005
49 | 3% wnsDA 70 14.4 0.004
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=zug | ANE =595 sEA =& SEsE
HS (2) (4 /min) (IH /)
#0 | 4= 2934 70 14.7 0.007
#11 45 Hera 70 4.6 0.007
#12 45 Hera 70 14.5 0.006
#13 3% 64 70 14.7 0.005
#14 3= 64 70 4.5 0.005
#15 3= 64 70 14.7 0.006
#6 | 3= Asmoa 70 14.5 0.007
#7 | 3z Asmeoa 70 4.5 0.004
#8 | 3z msmoa 70 14.5 0.006
#19 3% 6-3 70 14.7 0.007
#20 3= 63 70 4.8 0.007
12 102 | #of 3% 6-3 70 14.8 0.005
#22 3% 62 70 4.6 0.006
#23 3% 62 70 14.5 0.006
#24 35 62 70 14.5 0.004
#25 3% 61 70 4.7 0.004
#26 3% 61 70 14.4 0.005
407 3% 61 70 4.6 0.004
w8 | 3z oAl 70 14.5 0.005
w9 | 3z oAl 70 14.7 0.006
#30 35 oA 70 4.8 0.006
#31 3= sora 70 14.6 0.005
#30 3= sora 70 4.5 0.006
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NEBS #10 #11 #12 #13,14,15
R PN 45 =434 45 A= 45 A= 35 64
S3Z2 0 JIEXl Olst JIEXl Olst JIEXl Olot JIEX Olst

AHETH X

NEHS #16,17,18 #19,20,21 #22,23,24 #25,26,27
HF 2 X 3S M=ds4 35 6-3 38 62 35 6-1
=42 JI=Xl Olst JIEXl Olot JI=Xl Olot JI=Xl Olst

AHELCH X

ANEYS #28,29 #30,31,32

AHELCH X
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2% TA
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2= Atz
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2% P2
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4-4. £¥ZAT

szun | NE =m9x e 7E ToE =R
HS (2) (£ /min) (Oh /cr)
451 | 2= wADSY 70 14.6 0.006 IES L
452 | 25 moDRA 70 14.6 0.006 IES L
453 | 25 wADR 70 14.7 0.007 ISR
#54 | 23 ojn 70 14.7 0.005 IES L
455 | 2= 2oia 70 14.7 0.004 IES I
456 | 2= 0ia 70 14.8 0.004 ISR
457 | 25 HoiEHA 70 14.6 0.005 S5 ol
48 | 28 HOIEH 70 14.6 0.006 IES L
#59 | 2= etoiE M 70 14.5 0.006 IES L

18 14
40 | 2& HoiHE 70 14.6 0.005 JIE5 olst
11 | 22 HoiHE 70 14.4 0.007 JIE5 olsf
42 | 25 oM 70 14.7 0.004 S5 ol
63 2% =52 70 14.8 0.006 S5 ol
w4 | 2z =m0 70 14.8 0.005 J1E5 ol
465 2% =52 70 14.6 0.007 JIE3 olsl
466 25 B 70 14.4 0.006 J1E5 ol
w7 | o= ey 70 14.5 0.004 J1Ex ol
we | o= aea 70 14.7 0.005 JIE3 olsf
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6-4. STALE
A28 S #51,52,53 #54 55,56 #57 #58,59
M= X 25 BAHUFA 25 S04 s dEAMA 25 S0 AMA
SJ3Z JIEXl 0|3t JIEX 0lat JIEXl Olat JIEXl Olal
INESINDN
ANESHS
M= X
=820
AEITH X
ANEHS
M= 2K
=82
AEITH X




4-5. £8&1

smum | L2 SEEPY =2 = vy 20012

- HS (2) (£ /min) (oK /cm)
#69 | 12 DlzEaa 70 14.4 0.004 IES L]
470 | 15 sEaINE | 70 14.4 0.004 JIE 0l
71 | 1m deazNE | 70 14.7 0.005 IES L
W72 | 12 slEaINE | 70 14.6 0.006 IES L]
473 | 12 mma 70 14.8 0.007 IES L]
w4 | 1E gaa 70 14.6 0.007 JIE ol
w75 | 1E gaa 70 14.5 0.005 JIE ol

12 152
W6 | 12 wma 70 14.5 0.006 IES L]
77 | 1m wma 70 14.6 0.005 JIE 0l
78 | 12 wmam 70 14.4 0.007 JIE ol
79 | 15 H2Al =E | 70 14.4 0.005 JIE ol
#80 15 B 70 14.5 0.004 JIE ol
11 | 1z 70 14.7 0.004 JIE 0l
482 15 a2 70 14.8 0.006 JIE ol
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